2RXS J174718.7+513309

gamm*bbdy

930832 0133

(A93 s zwd)/suojoyd

= TR N B [THN I N N [TV O A I B [T R N M
N
(@] o o o
i i i i

(A s)/s3uno)

T (TN R A [T TN A [T R A
7 ¢ 7 Y
(@] o o o
L | q—] — L |

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

— o (o]
: 88
© & 9
~ o &
wn © —
| | |
+ + +
o — <
131333
|
=] c3] =] [e3] =1
(aV] o -~ < ™
T =+ © @
™ < -~ - n
Il
() 1]
-
© — Il
S ] >
o x| < E
g, 2 =T — ©
n [z, z B z
UL LN L LA
I :
«ARRRARNRRARRRRARRERANNE:
N - O —

s[enpisay

1.00

0.10

ered = 0.56

Energy/keV



